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Question Bank
&fe® 6@ ( Elective Course )

wrfife ( Economics )

QO %@ ( 3rd Paper )
Statistical Technique : EEC-3

Which diagrammatic presentation of statistical data requires ‘Frequency Density’?
(I ST (Mo ST AT AU G LA 27 2

In drawing an ‘Ogive’ what is measured along the ordinate (y-axis)?

“&fere” SR(- AT T S0 [ AR 39127 2

In presenting the frequency distribution, which one of the following diagrams is meant for
a discrete variable?

fafes bets g ARPIR S Temts (eRifb s MG SHEfore T o= e (w1 ba 7w 207 2

Monthly income of workers in a factory falls under which category of the following?
(I TRAM (FCH 2R TR S N5 (i [0 TSo@ 203 2
(Class frequency) / x = Relative frequency
What is ‘%" here?
Cffer AR = SRS AR
X

G x I7CO fF (@I 2

In a pie chart the share of different sectors are indicated which are having percentage
shares of the total. The relevant angle at the centre of the pie chart has to be calculated.
The formulais : The desired angle = k. (corresponding percentage of the sector). What is
the value of ‘k’?

A1e% b ROy S &=y Jefbea (FIC! [ [oTtors SRl o w0 20eT J8fb e (w93l (1o el
PO T | 9@ 29 :

(IR AN = & x (RFowb 2SI, 98 497 A TS 2

For a moderately asymmetric distribution the mean and median are respectively 24.5 and
24.3. Find out the value of Mode

Ty AR (I [ASTer= (Fq oMo G @ IR M IAFCH 24-5932 24+3 ; 92X BRHFF ( Mode ) T
IOIW ?

A train ran at ‘x’ km per hour from A to B and returned from B to A at ‘y’ km per hour. What
is the average speed in km per hour?

93 (G x km 2fS BT (A3 A (AF B (O CARICEN G2 (FIR A0 B (AF A (ARG y km &fS 67 @0l |
CGADF 1S aAfSTaal el T2 |

If AM and Coefficient of Variation of x are 6 and 50% respectively, then find out the

variance of x.
M x 5T NS 90T 9 932 CSHICHR ( c.v.) N IAFCT 6 @2 50% 2T, O x -9 (S (variance) el

PP |

Standard Deviation is dependent on the change of which one of the following?
e RpIfo (S.D.) PR SRS Toig e 33 2

Two regression lines are 2x + 3y —4 =0 and x + 2y + 6 = 0. The correlation coefficient
between x and y is —
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b AL OTe (RITY TFCH 2x + 3y -4 =0 932 x+2y+6=0 | x@ y-a97 7291 @4I1F (Correlation
Coefficient) el e |

If the two regression lines coincide, then what will be the value of correlation coefficient?
as AR ST (1 A SEioreI T et T O 7729 SICEe A 9 30T ?

If the correlation coefficient between x and y is 0.4, then what will be the correlation
coefficient between 3x and -2y?

M x 8 y-937 72O GeAIF (-4 2, O 3x G2 — 2y -7 2O BeF F© 2(F 2

How Fisher’s Ideal index can be calculated?

If the prices of all items change in the same ratio, then the Laspeyre’s and Paasche’s index
will be related in the following way

o ST WA I €353 2I0F RIS 23 ST FAPTCATI @ AT o Y5 7% 5 203 2

Which index satisfies the Factor Reversal Test?

Tt s REICH (Factor Reversal Test) (F1 iR TG 77 2

If the Consumer Price Index in 1992 with1985 as base period is 225, then how much the
retail price has increased on the average?

M (SIS 7 % (CPI), 1985 (F 8@ I3[ €0F, 1992 T &= 225 T¥ O YAl Wi 5CS Fo6! I
CoICACE I IR 2

The period of movement of Time series for Seasonal variations is

AYE (S Golf FIA R TR S BT AR Gy 2T T2 27 2

In fitting a Parabolic curve of second degree through Least Square Method, how many
normal equations will be required?

=g qof T8 *fafore Il [Gere T *FRICIIET ERICE NI sfody wisie Fare w3 F3fe e
ACAG 27 ?

Time Series data can be decomposed by two models in ‘k" number of components. What is
the value of ‘k’ ?

ST AR AROCE 4 TCSCTH IR (S (FCET & HAPF SAA ANG R | -9 T F9 2

What type of movement in time series data are captured by secular trend method?

(1S oS ATy T [ R TI Aoe] AR w11 2372

What is the probability of getting head each time, when an unbiased coin is tossed twice?
G5 IRy AT 11K PO CeT V<192 (76 A QI ol Fee |

Three letters are written and put at random inside three addressed envelopes. Calculate
the probability that the letters go into the right envelopes.

o=l of3 forc sTapTe ©1Ca fomfs Bt (onal AT (GeICaT 241 | Bidwfer B9 B9 s Tz TSR ey T |
An urn contains 6 red and 4 white balls. Two balls are drawn without replacement. What is
the probability that the second ball is red, if it is known that the first is red?

95 AT 66 #1ieT @32 4T W1 <1 SR | 9 T (I Al 29T 2N @Al (T A M | S @ o7 267
FAGRAT ol I, T2 ST TR (T 2T I &7 (FR[CACE |

Three boxes of the same appearance have black and white balls in the following
proportion:

Box I: 5 black and 3 white

Box II: 6 black and 2 white
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Box Ill: 3 black and 5 white

One of the boxes is selected at random and one ball is drawn randomly from it, given that
the ball is black, find the probability that it came from box .

a3 79 (S o4 137 Sz 19137 - 1@ 5T FIceTr @ 3% 5wy 97, 9137 - 11 ¢ 66 St 8 2 My 967 @92 -1
(S 3 e 8 5T T & SR | TPTBI SAY @B I3 AW 1 281 G OF (AP MRS SAIY @ T (39

FA A | 3w 30 FICeT TW O IADI -1 STF ABRA! o7 767 |

The expected value of the sum of points obtained in two throws of a fair die is

G ([T I Y3 BT 297 | N0 S fore CA1oRp et sifelfos sfoymit el wee |

A random variable Z takes the value 2 with probability 1. Find Var(Z)
G5 PTG beT Z-99 A+ 2 B9 FERT AW | 7T, O Var (2) T |
A continuous random variable X has a probability density function given by
F(x)=1/2 - ax, O0<=x<=4
=0 , elsewhere
Where, ‘a’ is a constant.
Find the value of ‘@’
GFT SRICZ PTG b1 x -7 I T ST (NS SR —
F(x)=1/2 - ax, O0<=x<=4
=0 , S
(A 2 96 3T | a-F T (ol T2 |
For a Poisson distribution with mean 1, find out the ‘Mean Deviation’ about mean.
Gl TR fATIIT 91T T | 21, O & I0%d ACATT %ﬁ@% (mean deviation) el 6 |
Suppose that a random sample of size 10, drawn from a Normal population, has mean 40
and standard deviation 12. Find 99% confidence limits for the population mean.
Given: ‘t’ value at 0.005 =3.25 for 9 d.f
91 T 3T 55fF (Normal population) (ACF GG FTTE T HIF S 2CACR T n = 10, 9T = 40 G2 A
fpif® (S.D.) = 12, @17 ‘PB‘CWW( Population Mean ) 99% SIZST ( confidence limits ) oS 3367 |

(CASATTT : tyrg0s = 3725, T4 d.f. = 9)



